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UML

UML(Unified Modeling Language): UML2 S2{A RS 1
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2L 0|F2 HOIZTH, ~ speed: int / Z WE&® Ho{ZTh
— gear: Int
— color: String
+ speedUP(): void
+ speedDown(): void w_ | 2L FHE Ustdth
Z nAE® HoizT,




Television Se{2A 2| UML

Television

-isOn
-volume
-channel

+setChannel()
+getChannel()
+setVolume()
+getVolume()
+turnOn()
+turnOff()
+toString()
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public class Order {
String orderld;
Payment 22~ — & Payment paymentType;

Delivery 22~ —5 Delivery  deliveryType;
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public class Product {
String  productld;
int price = 0;

public void addProduct(String productld) {

}...

Product

- productld: String
- price:int =0

A
0x

H_JH_J
mju
=
>
oL}

} public Booelan deleteProduct(String productld) {

}...

+ addProduct(productld:String)

+ deleteProduct(productld:String):Boolean A2 private Boolean checkProduct(String productld) {
- checkProduct(productld:String):Boolean
}
}
(7h UML Sefao| 2 &7| (Lh AtHE Sejael ¥R 2=
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¥ 'Product’

SHES 2A0HA L.

Product

productld: String
price : int=0

-

Be

addProduct(productld:String)
deleteProduct(productld:String):Boolean

- checkProduct(proudctld:String):Boolean

# 'Product’ SciaE 7fESIA| L.
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H 2 E overloading

* 2 58 25 \@

*  OverloadTest,java &td

* + AAMKIES O| 29t Lo A =3 M E overloading

* add( String i, String j ); < add(“java”, “program”);
*  add( double i, double j ); « add(2.56, 1.10);
# add(inti, intj); « add(10,20);

: +" HMXE
C:WJAVA>java OverloadTest 4 '

=Xt ZAgto| Z1} : javaprogram
Aol A} : 3.66

540 Z1t: 30

r T

od
4 4
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class AddTest { -
int add(int i, int j) {
return i + j;

}

String add(String i, String j) {
return i + j;

}

double add(double i, double j) {
return i + j;

}

}

Al A
=

nNg

class OverloadTest {
public static void main(String argsl]) {

AddTest at = new AddTest();

String res1 = at.add("java", "program");
double res2 = at.add(2.56, 1.10);

int res3 = at.add(10, 20);

System.out.printin("EAtE Zgel A1t : " + resl)
System.out.printin("&= Aol Zut " + res2)
System.out.printin("’8 7‘** ol A4t + res3)
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